MSI-9300HT

Mid-section Assembly 10,0001b

Part Number/Price

(=]
<
m
=
==
m
=
o
=
o
D
==
=
D
=
m
)
-
>
(]
m
=
m
—
|
3
=
=
-
(V2]

Item # Part # Description Price
1 138220 Hook, machined, torque Consult
2 148994 Collar, torque resistant Consult
3 138147 Load cell assembly, torque Consult
4 109955 Screw, SH, 1/4-20 x 3/4, SS Consult
5 148995 Lug, upper, torque Consult
6 148964 Casting, mid-section, machined Consult
Not Shown |143233 Latch, safety kit Consult

€0/9-2.V-008 -duoyd | WOI"NEP@ILIrmMmMm

. An IS0 9001 Registered Company © 2022 Rice Lake Weighing Systems 1/22 Prices and specifications subject to change without notice. Visit ricelake.com for current prices.



MSI-9300HT

Mid-section Assembly 10,0001b

(72)
—
<
o
-
—
Ll
=
Ll
()
<C
P~
o.
LLI
o
S
=
=
S
Ll
=
(=]
<T
L
X
(2=
L
=
(=]

www.ricelake.com | Phone: 800-472-6703

RICE LAKE

An IS0 9001 Registered Company © 2022 Rice Lake Weighing Systems 1/22 Prices and specifications subject to change without notice. Visit ricelake.com for current prices.




MSI-9300HT

Mid-section Assembly 30,0001b

Part Number/Price

(=]
<
m
=
==
m
=
o
=
o
D
==
=
D
=
m
)
-
>
(]
m
=
m
—
|
3
=
=
-
(V2]

Item # Part # Description Price
1 137813 Hook, machined, torque Consult
2 148865 Collar, torque resistant Consult
3 138145 Load cell assembly, torque Consult
4 109955 Screw, SH, 1/4-20 x 3/4, SS Consult
5 149037 Lug, 30K torque resistant Consult
6 148963 Casting, mid-section, machined Consult
Not Shown |143235 Latch, safety kit Consult

€0/9-2.V-008 -duoyd | WOI"NEP@ILIrmMmMm

. An IS0 9001 Registered Company © 2022 Rice Lake Weighing Systems 1/22 Prices and specifications subject to change without notice. Visit ricelake.com for current prices.



MSI-9300HT

Mid-section Assembly 30,0001b

(72)
—
<
o
-
—
Ll
=
Ll
()
<t
P~
o.
LLI
o
S
=
=
S
Ll
=
(=]
<T
L
X
(2=
L
=
(=]

www.ricelake.com | Phone: 800-472-6703

An IS0 9001 Registered Company © 2022 Rice Lake Weighing Systems 1/22 Prices and specifications subject to change without notice. Visit ricelake.com for current prices.




MSI-9300HT

Mid-section Assembly 70,0001b

Part Number/Price

(=]
<
m
=
==
m
=
o
=
o
D
==
=
D
=
m
)
-
>
(]
m
=
m
—
|
3
=
=
-
(V2]

Item # Part # Description Price
1 138142 Hook, machined, torque Contact Factory
2 148960 Collar, torque resistant Consult
3 138146 Load Cell assembly, torque Consult
4 146631 Nut, hex, 1/4-20 nyloc, SS Consult
5 117599 Screw, SH, 1/4-20 x 1-1/2 Consult
6 109955 Screw, SH, 1/4-20 x 3/4, SS Consult
7 149018 Lug, 70K torque resistant Consult
8 138149 Casting, mid-section, machined Consult
Not Shown |142180 Latch, safety kit Consult

€0/9-2.V-008 -duoyd | WOI"NEP@ILIrmMmMm

. An IS0 9001 Registered Company © 2022 Rice Lake Weighing Systems 1/22 Prices and specifications subject to change without notice. Visit ricelake.com for current prices.



MSI-9300HT

Mid-section Assembly 70,0001b

(72)
—
<
o
-
—
Ll
=
Ll
()
<t
P~
o.
LLI
o
S
=
=
S
Ll
=
(=]
<T
L
X
(2=
L
=
(=]

www.ricelake.com | Phone: 800-472-6703

An IS0 9001 Registered Company © 2022 Rice Lake Weighing Systems 1/22 Prices and specifications subject to change without notice. Visit ricelake.com for current prices.




